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Name - Starttime- _ . End time-_

Solve the following. Algebraic expressions.
a.-6x+5+12x-6
b.2(x-9)+6(-x+2)+4x
C.3%2 +124-9% - 204622 <X
dX+2)(x+4)+xX+5)(x-1)
€. 1.2(x-9)-2.3(x+4)

f. (x2y)(xy2)
g. (-x2y2)(xy2)

Simplify the expression.

a.(ab2)(a3 b)/ (a2 b3)

b.(21 x5)/(3 x4)
c.(6x4)4v2)/[(3x2)16Y)]
d.(4x-12)/4

e. (-5x - 10) A{x+2)

f (x2-4x - 12) Mixl.— 7%=.24)

Solve for x the following linear equations.
a.2x=90
b.6x-8=4x+4
c.Hx-2)=2(x+3)+7
d.0.1x-16=02x+2.3

e.-x/5=2
f x-4)/(-6)=3
g 2 3 5 6 8 9
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